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Вспомним:



�Разберите решения следующих задач и запишите  в 
тетради:
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Дано:

Найти:

 АВ = 64 см, С – середина АВ, D - лежит 
 на луче СА, СD = 15 см.

ВD, DA - ?

Решение
 АВ = 64 см, С – середина АВ, тогда АС = СВ = 32 см.
СD = 15 см, DA = AC – DC = 32 – 15 = 17 (см)

 ВD = DC + CB = 15 + 32 = 47 (см)

Ответ: BD = 47см,   DA = 17 см.
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Дано:

Найти:

 AF  = FB, BK = KC, AC = 5 см.

FK - ?
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Решение

2FB + 2BK = 5 см,  FB + BK = 2,5 см,
FB +BK = FK,
Поэтому  FK = 2,5 см.

Ответ: FK = 2,5см.

По условию AF  = FB, BK = KC, тогда
AF + FB + BK +KC = AC,



Решаем задачи

Дополнительно: 
№№ 28, 30, 34


